
Erafsommen tot 5.000

Oefening 1

1. 1.759 - 893 =   

2. 4.854 - 1.676 =   

3. 4.655 - 912 =   

4. 3.606 - 1.419 =   

5. 1.209 - 726 =   

6. 3.281 - 2.912 =   

7. 3.727 - 3.374 =   

8. 2.283 - 1.786 =   

9. 4.769 - 1.991 =   

10. 4.391 - 257 =   

Oefening 2

1. 3.647 - 3.263 =   

2. 2.342 - 2.146 =   

3. 3.071 - 1.873 =   

4. 2.976 - 2.794 =   

5. 3.722 - 2.569 =   

6. 3.509 - 820 =   

7. 1.833 - 1.150 =   

8. 2.903 - 2.483 =   

9. 3.583 - 1.030 =   

10. 4.466 - 1.256 =   

Oefening 3

1. 1.168 - 696 =   

2. 2.427 - 2.297 =   

3. 3.751 - 2.207 =   

4. 4.188 - 3.846 =   

5. 3.744 - 2.993 =   

6. 4.041 - 3.459 =   

7. 3.358 - 2.005 =   

8. 3.842 - 3.840 =   

9. 4.379 - 1.188 =   

10. 2.802 - 1.291 =   

Oefening 4

1. 2.256 - 1.406 =   

2. 3.254 - 1.654 =   

3. 2.122 - 1.254 =   

4. 1.325 - 251 =   

5. 1.642 - 1.212 =   

6. 1.241 - 533 =   

7. 2.131 - 1.038 =   

8. 4.679 - 4.674 =   

9. 3.642 - 2.538 =   

10. 723 - 652 =   
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Werkblad: Erafsommen tot 5.000 [2] | ANTWOORDEN

Oefening 1

1. 1.759 - 893 =  866

2. 4.854 - 1.676 =  3.178

3. 4.655 - 912 =  3.743

4. 3.606 - 1.419 =  2.187

5. 1.209 - 726 =  483

6. 3.281 - 2.912 =  369

7. 3.727 - 3.374 =  353

8. 2.283 - 1.786 =  497

9. 4.769 - 1.991 =  2.778

10. 4.391 - 257 =  4.134

Oefening 2

1. 3.647 - 3.263 =  384

2. 2.342 - 2.146 =  196

3. 3.071 - 1.873 =  1.198

4. 2.976 - 2.794 =  182

5. 3.722 - 2.569 =  1.153

6. 3.509 - 820 =  2.689

7. 1.833 - 1.150 =  683

8. 2.903 - 2.483 =  420

9. 3.583 - 1.030 =  2.553

10. 4.466 - 1.256 =  3.210

Oefening 3

1. 1.168 - 696 =  472

2. 2.427 - 2.297 =  130

3. 3.751 - 2.207 =  1.544

4. 4.188 - 3.846 =  342

5. 3.744 - 2.993 =  751

6. 4.041 - 3.459 =  582

7. 3.358 - 2.005 =  1.353

8. 3.842 - 3.840 =  2

9. 4.379 - 1.188 =  3.191

10. 2.802 - 1.291 =  1.511

Oefening 4

1. 2.256 - 1.406 =  850

2. 3.254 - 1.654 =  1.600

3. 2.122 - 1.254 =  868

4. 1.325 - 251 =  1.074

5. 1.642 - 1.212 =  430

6. 1.241 - 533 =  708

7. 2.131 - 1.038 =  1.093

8. 4.679 - 4.674 =  5

9. 3.642 - 2.538 =  1.104

10. 723 - 652 =  71
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